
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 15

ENGINE SUSPENSION FRAME
Item
No. Part No Description Qty.

Req. Price

1 886-563 ENGINE SUSPENSION FRAME ASSEMBLY 1 $995.00
2 941-487 ALLEN SCREW M10x110 1 $6.61
3 945-753 LOCK WASHER A10 4 $0.31
4 840-948 ALLEN SCREW M10x35 1 $4.63
5 927-952 THRUST WASHER 10.1/20/0.5 AR $4.78
5 927-953 THRUST WASHER 10.1/20/1.0 AR $4.90
6 847-841 SPACER 10.5/17/15 2 $9.61
7 927-410 WASHER 10.5 2 $0.57
8 650-572 ALLEN SCREW M10x50 2 CALL

9-10 860-695 SHOCK MOUNT SET - NON-CERTIFIED 1 $772.00
9 944-240 CUP WASHER - NON-CERTIFIED 8 $59.75

10 860-690 SHOCK-MOUNT - NON-CERTIFIED 8 $107.61

HYDRAULIC GOVERNOR FOR CONSTANT 
SPEED PROPELLER
Item
No. Part No Description Qty.

Req. Price
1 810-310 OIL INLET FLANGE 1 CALL
2 430-175 O-RING 46x3–N, FPM 75 1 $14.36
3 830-415 O-RING 7x2–N, FPM 75 2 $6.69
4 832-950 NEEDLE BEARING RNA 49/32 1 CALL
5 227-280 THRUST WASHER 2 $7.65
6 940-315 COUNTERSUNK SCREW M5x12 2 $0.57
7 832-362 BALL BEARING 16002. 15–32–8 1 $41.13
8 834-245 VACUUM PUMP GEAR 22 T 1 $211.87
9 941-521 ALLEN SCREW M8x16 1 $1.26

10 232-925 NEEDLE SLEEVE 22x28x12 1 $36.82
11 847-773 DRIVE SLEEVE 1 $359.30
12 847-802 SPACER 25/31.95/13 1 $28.58
13 950-380  O-RING 32x4–N FPM 75 1 $11.62
14 810-070 GOVERNOR FLANGE 1 CALL
15 941-611 PLUG SCREW M8x1 2 $5.61
16 241-930 ALLEN SCREW M6x20 4 $0.57
17 241-237 ALLEN SCREW M6x16 2 $0.73
18 931-770 GASKET - NON-CERTIFIED 1 $12.98
19 926-231 COVER - NON-CERTIFIED 1 $118.28
20 250-315 WASHER 8.4 - NON-CERTIFIED 4 $0.41
21 240-072 ALLEN SCREW M8x20 - NON-CERTIFIED 4 $1.35
22 956-460 PRESSURE OIL LINE ASSEMBLY 1 $262.80
23 940-874 BANJO BOLT M10x1x23 1 $13.99
24 230-150 SEALING RING A 10x14 5 $1.09
25 940-873 BANJO BOLT M10x1x34 1 $16.26
26 853-418 CABLE CLAMP 1 $23.43
27 944-131 LOCK WASHER A8 1 $1.26
28 440-854 HEX./TORX-FLANGE SCREW M8X16 1 CALL
29 840-711 STUD M8X21/20 - NON-CERTIFIED 4 $20.14
30 945-832 LOCK WASHER A8 - NON-CERTIFIED 4 $0.23
31 942-671 HEX NUT M8 - NON-CERTIFIED 4 $2.67
32 931-372 GASKET - NON-CERTIFIED 1 $186.77

915 iS ENGINE

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/886-563.php
https://www.cps-parts.com/catalog/pnpages/941-487.php
https://www.cps-parts.com/catalog/pnpages/945-753.php
https://www.cps-parts.com/catalog/pnpages/840-948.php
https://www.cps-parts.com/catalog/pnpages/927-952.php
https://www.cps-parts.com/catalog/pnpages/927-953.php
https://www.cps-parts.com/catalog/pnpages/847-841.php
https://www.cps-parts.com/catalog/pnpages/927-410.php
https://www.cps-parts.com/catalog/pnpages/650-572.php
https://www.cps-parts.com/catalog/pnpages/860-695.php
https://www.cps-parts.com/catalog/pnpages/944-240.php
https://www.cps-parts.com/catalog/pnpages/860-690.php
https://www.cps-parts.com/catalog/pnpages/810-310.php
https://www.cps-parts.com/catalog/pnpages/430-175.php
https://www.cps-parts.com/catalog/pnpages/830-415.php
https://www.cps-parts.com/catalog/pnpages/832-950.php
https://www.cps-parts.com/catalog/pnpages/227-280.php
https://www.cps-parts.com/catalog/pnpages/940-315.php
https://www.cps-parts.com/catalog/pnpages/832-362.php
https://www.cps-parts.com/catalog/pnpages/834-245.php
https://www.cps-parts.com/catalog/pnpages/941-521.php
https://www.cps-parts.com/catalog/pnpages/232-925.php
https://www.cps-parts.com/catalog/pnpages/847-773.php
https://www.cps-parts.com/catalog/pnpages/847-802.php
https://www.cps-parts.com/catalog/pnpages/950-380.php
https://www.cps-parts.com/catalog/pnpages/810-070.php
https://www.cps-parts.com/catalog/pnpages/941-611.php
https://www.cps-parts.com/catalog/pnpages/241-930.php
https://www.cps-parts.com/catalog/pnpages/241-237.php
https://www.cps-parts.com/catalog/pnpages/931-770.php
https://www.cps-parts.com/catalog/pnpages/926-231.php
https://www.cps-parts.com/catalog/pnpages/250-315.php
https://www.cps-parts.com/catalog/pnpages/240-072.php
https://www.cps-parts.com/catalog/pnpages/956-460.php
https://www.cps-parts.com/catalog/pnpages/940-874.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/940-873.php
https://www.cps-parts.com/catalog/pnpages/853-418.php
https://www.cps-parts.com/catalog/pnpages/944-131.php
https://www.cps-parts.com/catalog/pnpages/440-854.php
https://www.cps-parts.com/catalog/pnpages/840-711.php
https://www.cps-parts.com/catalog/pnpages/945-832.php
https://www.cps-parts.com/catalog/pnpages/942-671.php
https://www.cps-parts.com/catalog/pnpages/931-372.php
https://www.cps-parts.com/catalog/pnpages/886-563.php
https://www.cps-parts.com/catalog/pnpages/430-175.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/834-245.php
https://www.cps-parts.com/catalog/pnpages/832-362.php
https://www.cps-parts.com/catalog/pnpages/847-802.php
https://www.cps-parts.com/catalog/pnpages/950-380.php
https://www.cps-parts.com/catalog/pnpages/940-874.php
https://www.cps-parts.com/catalog/pnpages/847-773.php
https://www.cps-parts.com/catalog/pnpages/241-930.php
https://www.cps-parts.com/catalog/pnpages/241-237.php
https://www.cps-parts.com/catalog/pnpages/240-072.php
https://www.cps-parts.com/catalog/pnpages/840-711.php
https://www.cps-parts.com/catalog/pnpages/840-711.php
https://www.cps-parts.com/catalog/pnpages/940-873.php
https://www.cps-parts.com/catalog/pnpages/941-521.php
https://www.cps-parts.com/catalog/pnpages/940-315.php
https://www.cps-parts.com/catalog/pnpages/940-315.php
https://www.cps-parts.com/catalog/pnpages/944-131.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/945-832.php
https://www.cps-parts.com/catalog/pnpages/945-832.php
https://www.cps-parts.com/catalog/pnpages/942-671.php
https://www.cps-parts.com/catalog/pnpages/942-671.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/227-280.php
https://www.cps-parts.com/catalog/pnpages/227-280.php
https://www.cps-parts.com/catalog/pnpages/853-418.php
https://www.cps-parts.com/catalog/pnpages/926-231.php
https://www.cps-parts.com/catalog/pnpages/931-770.php
https://www.cps-parts.com/catalog/pnpages/931-372.php
https://www.cps-parts.com/catalog/pnpages/931-372.php
https://www.cps-parts.com/catalog/pnpages/941-487.php
https://www.cps-parts.com/catalog/pnpages/840-948.php
https://www.cps-parts.com/catalog/pnpages/650-572.php
https://www.cps-parts.com/catalog/pnpages/650-572.php
https://www.cps-parts.com/catalog/pnpages/847-841.php
https://www.cps-parts.com/catalog/pnpages/847-841.php
https://www.cps-parts.com/catalog/pnpages/927-952.php
https://www.cps-parts.com/catalog/pnpages/945-753.php
https://www.cps-parts.com/catalog/pnpages/945-753.php
https://www.cps-parts.com/catalog/pnpages/945-753.php
https://www.cps-parts.com/catalog/pnpages/927-410.php
https://www.cps-parts.com/catalog/pnpages/927-410.php
https://www.cps-parts.com/catalog/pnpages/945-753.php
https://www.cps-parts.com/catalog/pnpages/927-952.php
https://www.cps-parts.com/catalog/pnpages/944-240.php
https://www.cps-parts.com/catalog/pnpages/944-240.php
https://www.cps-parts.com/catalog/pnpages/860-690.php
https://www.cps-parts.com/catalog/pnpages/941-611.php
https://www.cps-parts.com/catalog/pnpages/941-611.php
https://www.cps-parts.com/catalog/pnpages/830-415.php
https://www.cps-parts.com/catalog/pnpages/830-415.php
https://www.cps-parts.com/catalog/pnpages/250-315.php
https://www.cps-parts.com/catalog/pnpages/860-690.php

